Ratio to ATLAS

1/od?o/ dm™d |y vGev]

|
o
R

| —
o
e

—_
<
D

107>

[EEY

0.5

mtbar{t} [GeV], |

tbar

y

13000 GeV pp tt
T I T I T | T I I I I T | T I I I I T | ﬂ
— . . 13
— M(ttbar) (ATLAS semileptonic ttbar) 13
: 1=
AN
B e
B A
B =}
—
| —H
™
®
=
- X
B Bie)
o™
- <
o™
©
o
™
— —
—  m ATLAS EE
- A Pythia 6.428 370 1%
| ---&-- Pythia 6.428 371 -5
L - ¥- Pythia 6.428 372 dc
B -~ Pythia 6.428 376 18
)
o
o
| 1O
1 | | | | | | | | | L = -
: T T | T T T T | T T T T |:
— =2
1
| —0.5
1 " 1 " | " 1 1 1 1 " | " 1 1 1 " 1 " |
1000 2000 3000

M in [0.65,1.3]



	Contents
	Page 1


